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( Elementary Microeconomics )
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The figures in the margin indicate full marks
for the questions

1. oo gl eppTyRs Te e /o Teseh! ifb Sfereq :
1x6=6

Answer the following questions/Choose the
correct answer :

(@) SHREERS TReterel Jferce & @2

What do you mean by scarcity in
economics?

(b) ST @Ol AfRere wAReEme fowear 727 2
Microeconomics does not deal with
(i) STES wifEw
aggregate demand
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(i) BT AT

national product

(i) LR 7 T

general price level

(iv) €T Go18 T

G&e TorOTE] PO

None of the above
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The consumer is in equilibrium when
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None of the above

fsgse AR 2

What is substitution effect?

AT T @R @ 9 LS ¢ T (O

Marginal cost curve intersects average
cost curve, when average cost curve is

(i) THIN =]

upward sloping
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(i) R =
downward sloping

(iti) Y =7
minimum

(iv) & =7

maximum

() TS SEPOTEl TG WS S HE HATTOH
&S 3qR A
The relationship between profit and

uncertainty, according to the
uncertainty theory of profit, is

(i) dorF
direct

(i) ReRe
inverse

(i) *F
Zero

(iv) €[ 9OI8 T

None of the above

2. oo AR R @ fSRbR eeiqe 5y Gt fora
(afSTB1 Seo =g fSo79) : 4x3=12

Write short notes on any three of the
following (within 150 words each) :

(@) TEITS HF RT
Scarcity and choice
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(b) W1 TEfogTel

Price elasticity

(c) TRAMTI T

Production function

(d) T T, TG T WF £NfEF TRATET Aed
il

Relation among total product, average
product and marginal product

(e) TEfRF e =T FFEfF S

Normal profit and supernormal profit

oo PTRR Te ford (2fecht @ oo *%1 fso9) :

Answer the following questions (within 500 words
each) :

3. (o) IBIM WAy e o AARE SCam
01 11

Discuss the subject matter and scope of
microeconomics.

%<1/ Or

(b) TR 7R e 7 TR @A
7 W™ fTrreR AR TEE TR
e oep T 40 2+4+5=11
What is price elasticity of demand? How

can it be measured? Explain its types
with diagrams and suitable examples.
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4. (a) FECre @R EPEEPNR R FEere @I
IS & TACSISZ, (FCE SIS Tore
'3 ACE, I T4 6+5=11
What are the properties of indifference
curve? Explain how a consumer attains

equilibrium with the help of indifference
curve.

<1/ Or

(b) TIA "W ARTIS WE AR W aAfSEa
e v Remm 391 =, ofb Tre foag
MRS AR 9 | 11
Explain how price effect of a commodity
is decomposed into income effect and

substitution effect with the help of a
suitable diagram.

5. (@) AW AP @R ST RS A oI
HE AfeF W @IF 9T TOE STl
40 | 10

Discuss the application of marginal
revenue and marginal cost curve in
determining the equilibrium of a firm.

< / Or

(b) TC TERS JARF SRR TR 6T I |

Explain the profit maximization
conditions in input market.
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(a) T RS ZIIAT F A A
e (IR AT F91 =, TR I 10

Explain price and output determination
under monopoly firm in the short run
and long run.

<91/ Or

(b) j@fzf%cm@r@wwwwmm
PR QT (R AL kT 1, foad
SEES I 9

Explain with the help of diagram how a
long-run supply curve is derived from a
decreasing cost industry under perfect
competition.

( wRfiE 20 T 20x0 TR TE-TAT I )
( Additional 20 marks for 2023 Batch )

5x4=20

Answer any four questions from the
following :

(@) THETER T8 I QWA ? otz @iz o |

What do you mean by consumer’s
surplus? Explain with the help of a
diagram.
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(b) TR TR ARTER ICE @ @S T
FE? I F4

How does budget line shift as a result of
prices change? Discuss.

(€ TRREY I @2 fBaw s wicsm
bl

What is iso-cost line? Discuss with the
help of diagram.

(d) IR I/ @IPHZ H@H 90 |

Draw short-run cost curves.

() 1 efdcaifireryee Tew afErmz for

Write down the characteristics of perfect
competition.
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